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General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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10.

11.

12.

13.

SECTION - A

If we lift a body of mass 70 g vertically upwards 10 m then calculate the force required
to lift the body ( g=10ms=)

At what rate is electrical energy consumed by a bulb of 60 watt ?
How is oxygen replenished in nature ?
How is the average temperature on earth maintained steady ?

A body is vibrating 6000 times in one minute. If the velocity of sound in air is 360 m/s,
find (a) Frequency of vibration in hertz.
(b) Wavelength of the wave produced.

A solid object of mass 50g and volume 100 cm? is put in water. Will the object float or
sink ? Give reasons for your answer.

Name the instrument used to determine the density of liquids in which balance and
graduated cylinder are not required. Why this instrument is made heavy near the
bottom ?

Which symbiotic life forms can grow on stones and help in the formation of soil ?
Write the mode of their action for making soil from rocks.

(a) Why does moon have very cold and very hot temperature variations i.e from
—190°C to 110°C even though it is at the same distance from the sun as earth ?

(b) Why does Mathura refinery pose problem to the Taj Mahal ?

(a) The ratio of hydrogen and oxygen in water is 1:8 by mass, find out their ratio by
number of atoms, in one molecule of water.( At mass H=1 u ; O=16 u)

(b)  Write the formulae of the following compounds -
(i)  Ammonium sulphate (ii) Magnesium chloride

+
(Given Ammonium = NH n

Sulphate = SOLZL Magnesium = Mg2*, chloride = CI~.)
The electronic configuration of an element ‘X" is 2, 8, 2 :

(a) Find the number of electrons present in the atom of element X

(b)  Write its atomic number.

(¢) This element "X’ is a metal or a non metal ?

(d) Find out the valency of the element X.

Give reasons for each of the following.
(a) “Blue-green algae is placed in Monera and not in plantae”
(b) “Bryophytes and Pteridophytes grow in moist and shady places”.

(a) Write any two important features that are present in all chordates.
(b) Mention one difference between triploblastic and diploblastic animals.
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15.

16.

17.

18.

19.

20.

21.

22,

(@) Name the type of waves that can travel in gases 3
b) Name the wave which can travel in solids, liquids as well as gas.

(c) At any instant a compression is formed at a point. After how much time period
(i) A rarefaction (ii) A compression

Will be formed at the same point ?

—~

(a) Name the form of energy associate in each case. 3
(i) A flying bird.
(i) A man climbing the stairs
(iii) A compressed watch spring
(iv) A fast moving object.
(b) What is the commercial unit of energy ? And state its relation with S.I unit of

energy.
3
Hari and Shivam were playing on identical guitars whose strings were adjusted to give
notes of the same pitch. Which of two, the quality of the two notes and frequencies be
the same. Give reason for your answer.
(a) Calculate the molar mass of nitric acid (HNO;) (atomic masses of H=1u, O=16u 3
and N=14u)
(b) Calculate the no of moles in 22 grams of Carbondioxide (CO,) (atomic masses
of C=12u, O=16u)
(c) Calculate the number of molecules of oxygen in 6.4 grams of oxygen.
[Given N=6.02 %102 mole.]
(a) Distinguish between an atom and a molecule. 3
(b) Carbondioxide (CO,) contains carbon and oxygen in a fixed ratio 3:8 by mass.
Name the law of chemical combination which governs this statement. Also state
the law
(a) Why a person suffering from AIDS cannot fight even very small infections ? 3
(b) In a slum area many people are suffering from malaria mention any two
unhygienic conditions that must be prevailing in that locality ?
(c) Why female Anopheles mosquito feeds on human blood ?
(a) List two causes of spread of typhoid. 3
(b) Mention two ways by which we can prevent the spread of this disease.
(@) Mohan suffered from chicken pox in his childhood. He would not suffer from 3
this disease again. Mention reason for this.
(b) On which factor the severity of disease manifestation depends ? Explain with an
example.
(@) In which two ways are amphibians differed form fishes ? 3

(b) Identify the phylum of organisms having the following characteristics.
(i) Pore bearing animals and radial symmetry
(ii) Body spiny and radial symmetry

(c) Why gymnosperms do not require water for fertilization ?

3
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25.

(@) A man drops a 10 kg stone from the top of a 5m ladder. 5
(i)  Calculate the speed just before it hits the ground
(i) What is its Kinetic energy when it just strikes the ground (g=10ms ~2)

(b)  An object thrown at certain angle to the ground moves in a curved path and falls
back to the ground. The initial and the final points of the path of the object lie on
the same horizontal line. What is the net work done by the force of gravity on the
object ?

OR
(a) Define ‘Power’. Differentiate between Kilowatt and Kilowatt hour.

(b) Two girls each of weight 400 N climb up a rope through a height of 8m. Let the
name one of the girls is A and that of other is B. Girl A takes 20s while B takes
50s to accomplish this task. Calculate the power expended by each girl.

Answer the following in one line or one word. 5
(a) Who discovered neutron ?

(b)  On the basis of Thomson’s model of an atom, explain how the atom is neutral as
a whole.

(c) What is the maximum number of electrons that can be accommodated in the
outer most shell, of an atom ?

(d) What term is assigned to the atoms of different elements having same atomic
mass but different atomic numbers.

(e) How many neutrons are present in a hydrogen atom ?
OR

(a)

N shell {n=4)
M shell {n=3)
/ \ \\\ L shell (n=2)

K shell {n=1)

Nucleus

e

(i) Name the Scientist who proposed this model of atom.
(if)  Write the three postulates of this model

(iii) How many maximum electrons can be accommodated in M orbit ?

(a) Draw a labelled diagram of carbon cycle in nature 5
(b)  Describe the role of photosynthesis and respiration in carbon cycle.

OR

(a) What is meant by Biogeochemical cycle . Name the two essentials which are
transferred between different components of the biosphere.

(b) Ilustrate Nitrogen cycle with the help of a labelled diagram.

https://www.evidyarthi.in/



26.

27.

28.

29.

30.

SECTION - B

Reena noted following observations in her note book :
(a) Weight of the stone in the air = 272g wt

(b) Weight of the stone in Water = 192g wt

(c) Weight of the stone in salt solution =176g wt.

The relative density of the salt solution is

(272 -192)g 272 -192)g

@) 272-176)g ®) (192-176)g
(272 —192)g (272 -176)g

(© (176 — 192)g @ 22— 192)g

A piece of ice is floating on water surface in a beaker. When the ice melts :

(a) the level of water in beaker will increase.
b) the level of water in beaker will decrease
c) the level of water in beaker will remain same

(d) none

If a body is compressed to half its previous volume, its density :
(a) remain the same (b) becomes four time

(c) becomes half (d) becomes double

A given solid is weighed in air using a spring balance. It is then weighed by immersing
it fully, in each of the three vessels containing water, as shown. Its weight when
immersed will be :

W m
(@) leastin vessel C (b) leastin vessel B
(c) leastin vessel A (d) equalin all the vessels

For a floating body (B=Buoyant force, W=Weight of the floating body) :

(@) B=W (b)y B>W
() B<W (d) Information is incomplete
5
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35.

36.

A person is carrying a bucket of water in one hand and a wooden block in the other
hand. After transferring the wooden block to the bucket the person will carry :

(a) more load than before (b) less load than before
(c) same load as before (d) none

Mohit sets up a slinky on a smooth table top in the manner shown here. He can produce
transverse waves in the slinky by moving its free end Q ?

I

Smooth table

L]

at an angle of 457 with the table top

)
b) backward and forward along the length of the slinky
c¢) up and down
d) left and right

Note is a sound :

(a) of mixture of several frequencies
(b)  of mixture of two frequencies only
(c) of a single frequency

(d) always unpleasant of listen

Earthquake produces which kind of sound before the main shock wave begins :
(a) ultrasound (b) infrasound
(c) audible sound (d) none of the above

In the bell jar experiment, as air is removed from the jar :
(a) intensity of sound falls (b) speed of sound falls
(c) intensity of sound increase (d) speed of sound increases.

A student observed the posterior part of male cockroach in the lab. The following sketch
was made. The missing part in the sketch is :

(a) anal cerci (b) anal style
(c) Brood pouch (d) Antennae
6
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37. Figures given below shows an algae and a fungus. The reason that both are placed 1
under same division “Thallophyta” are :

Algae (Spirogyra) A fungus (Agaricus)

both are Autotrophic

~—~ ~—

both are Saprophytic

_ o~
o

c¢) plant body in both is not differentiated into root, stem and leaves
(d) both have false roots

38. Taprootsystem, prominent nodes and internodes reticulate venation, tetramerous flower 1
and enclosed seeds with two cotyledons as observed in the laboratory are characteristics
features of :

(a) Monocot (b) Dicot (c)  conifers (d) Cycadae

39. The diagram given below illustrates a sporophyte attached to gametophyte in Moss. Its 1
parts have been labelled as A, B, C, D by a student Correct labelling of parts A,B,C and
D are:

a) Female branch, male branch, rhizoids, capsule
)

=3

Male branch, female branch, rhizoids, capsule

Capsule, female branch, male branch, rhizoids

A/(?/‘\A
&v

Rhizoids, female branch, male branch, capsule
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41.

Features that help the bird to maintain constant body temperature :
(a) digits (b) Pneumatic bones
(c) Wings (d) Feathers

Bony fishes are characterised by :

(a) bony skeleton (b)  spindle shaped body with cycloid scales
(c) terminal mouth (d) all the above.
-00o0-
8
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10.

11.

o ug - A

70 U9 SHHM & Teh TYU€ 1 Ife A 10 HieX I9E de SR 331 ¢ a1 fIve W oM 9t o1
I URehe hifolg (g=10 ms ~2)

T 60 W o acd gN fohe X 9 forega <stl @ 2t ©2
opfa | SAToRdISH bl aTaet S Bl § 2
Yot R Y T ATIHH AR ST T ST Fehel § 2

1 fie ® @ fave 6000 T ¥ w3t 1 Al gl o6t fd ag ¥ 360 m/s B Al
snaﬁﬁnz:

(a) T I oS H MM

(b) cuTfed T HT T-eA

T 319 Ty 1 fdent geamM 50 T 31K 31T 100 cmd ©, STad | <1t fean sar &1 =0 fie
AT A1 oM 7 3T I h fere, swror s |

I TR0 T A S S & o B ol fo1 ol W Aenifehd ST hl FeTadl o A1 Ll
¥ et & Aol B IR 1 S S § 2

F G foremifes Ste werl W S St § qen e fator § Sererd w2 TR | ga
A H 3Tt fohan it ofient 1 38R |

(a) T=HI W 9gd 3 3R agd T qUshH URER R wWar g ? refd —190°C § 100°C Fafa
T gt R g 9 gedt 7

(b) AYT R T o foe woen = o g8 © 7

(a) T H SRS AT SATRIISH 1 GATH o STIHR I 1: 871 Teh 9] Sl H I
®T &A1 & ATYR U FISSIAT qUT SIS &1 AIM FATd HIfAT
(fen  : o g9 H=1u ; O=16 u)

(b) frAfafEa difen & ¥ fafaw
() oHIFEE §ehe (i) HEIREY FORES
(fean % : et = NH,, *, 9ee 31 = 50,2~ Friferam = Mg2*, selEe =Cl~)

T acd ‘X’ ol gorgeie fa=amd 2, 8,2 ¥

(a) ToTaM i HEAT [ HIC S ae X H sufeed E1
(b) HR T e fafae |

(c) I8 TA ‘X Teh U § AT 377G ?

(d) & X I GASTRdT T I |
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12.

13.

14.

15.

16.

17.

18.

19.

=1 ¥ 9% o1 SR Sife

(a)
(b)

(b)

“Freft-=dt Yeret 9 | g T 7 o ey it 71
“ ITTETEE qe TETwRe 9 3T BRIeR T W3 g1

HIE T T AT, S W HIek H Sufed B €, fafam)
FrepRes Siq aen fgsier Siq o 7eA &g o 3 fafaw |

39 7 1 A9 e S A H fq R dehd ©

3G T 1 99 ST S S, g4, den i H fa S ehdt

e forg W fordll &0 Aftes Tenfid 21 81 fohas 999 o= & &g
() Uk e dwm (i) Tk Hdred

3T fog W s 2

fohe TR o1 FoTl (191 Ioeh © Frafyd & - SIS

(i) T el velt

(ii) T AR GG T g3

(iii) Tk Hdifed =St ot HA

(iv) oS T & =Tt Tk g |

STl ot AT SHTE 1 § 2 AR STHT Haie Soll o S.J. S H R0

g aen foram 9ue yhR & fier oo ® 9, {59 9’ & 99 fre & @R feen & fau
TS foRa 7o 39 <1 § 9 foRdent < R TS STghd kit T[uran 99 BRT 2 379 T h
foT R <ifsw

TEfek e (HNO,) & HieR g a1 qierer i, (feam §, wm) gemm : H=1
u, O=16 u dAT N=14u)

CO, & 22 7™ H Suferd Hiel sl HeA 1 Uieherd hitsC | (WH] 991 C=12 u,
0=16 u)

SIS & 6.4 T H Uk, SAfads o TURT i & i IReha HifaT |
(fean & O/ §=& =6.02x10%3)

T TRATY] G T 379] § fadg s

hTsi T8 HATFIES (CO,) H e U7 SRS hl FoFHM o SR T Teh 1 T
3:8%| 3T TEEE AN & fom w1 1 fafae S 59 wem & fafea sar g s
frm =1 ot fafam )

AIDS ¥ 7 Uit femeft off B1e & Bie HehHor A .l T2 o= Tehd & 2

Teh Tt St & B 91gd | Ao Heifen 9§ difed §1 < sremeeae uitfeafaei # sem
RIS S 39 & H A9 2

T TS Host HFe SRRl ST HIe & o1 © 2

10
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(a) 2rAHEE & He 6 I RO GG BT | 3
(b) < fafer fafey 59 39 T 1 e | e S 66 |

(a) HIEA s=uA | oot e 9 difed o1 39 I8 M e Tl 8RT | 3Heh faw wRw 3
fafEu |

(b) T SRR W AR T TRRAT FR 3t B 1 3 3T F Y TR |

(a) g o1 fafar sare foad Sereea =x fi € 7 9 3
(b) FrAfafEa &l arel S3il & wEaH Sl TET |

() ToogE Siq qu Heaa wafufa

(i) hega TRR qun feaa wutafa
(c) TTdsSt o, F=H H St i STevdehdl Fii Tel et § 2

(a) T AR 10 kg 1 TeeR 5 WX =it Higt & fimren 7 5
(i) gl W THH § YBA THh! A1 i TUAT BT |
(i) 9 I Yoot § U ¥ ST Tgel SHb! TSt Spoit fehat 2N 2 (=10 ms~2) |

(b) T Tuug o fopet fafvea o § S R Thept ST € aem g ok 9 TG et g2
THA R ATE R S § | 9% o 9 o1 Wiikersh Ud 31f<ad fowg aam Seaier T R feem
B I W IEEE 9 % g fRA1 T FA FE A |

Srerar
(a) iRt ol GRTTYG Shife | ferediare qen fhaiiare =ver # fadg wifsm

(b) < TSfRAT FFTH ¥ T 1 YR 400 N § 8 m 39 d Uoh W W =gt 1 399 |
Th 1 A A T G 61 BT 39 &1 I T B H TSH A 20 Tk Tl § ae
TSH! B 50 Yoh~S ol &1 Uceh oIgah! g @ bl Tt viferd ot TUMT whifig |

191 o1 S T a9 | A1 T IR § S 5
212t @il foha 1 ?

b) URHIY] T AT %k HISH & SMHR W, A U foh WA Fel T 4 fshia 7

c) ToEh T & STer i H gerae ot sifiehan e fhaHt 2 wehdt 7 2

d) Tl o 37 TEI[S i w1 A A S 7 TSR W] S 99 ql 9] hHiw
R ar g

() T TIZSISH & WA § feoha =g2iv Sufeerd € 2
areram

a

)
)

(
(
(
(
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25.

26.

27.

28.

N shell {n=4)
M shell {n=3)
/ \ \\\ L shell (n=2)

{4 K shell {n=1)

% Nucleus
}
L

k]

3 1R o1 W fafen e s 6 T Ated 9 fRa
3G Higd ! dF STaURI fafay |
M 9 H 21ferehad fhad soiagi= & Hehd 1

Yehfd H RIEA =5k 1 ATHITRd oo SIS |
TS sk T YhTRI-HIATU A1 TG YfHer &1 0 HifST |
T

S -TEmfTen =k 1 31 T2 59 qued o fafie seshl % site weaid 2 aret
T HEEqUl qo o AW fafau |
A52IS =5k hl Teh ATHIohd o o GRI HHEMET |

T ue -

T 7 T s1aciiehe ST9T Aege | Al fohu

(a)
(b)
(©)

TeoR &1 91 H ¥R = 272 T 4R
TeeR 1 STd H 91 = 192 U R
TeeR &l 79 faaad § YR = 176 UM YR

e faera & sTiferes s ®

(@)

(272 —192) . (272 —192) . (272 —192) 0. (272 — 176) .

e2—17em. ® qn-izem ©  aze—1om @D 2190w

Teh St 1 ohel SRt H STl i Hefg W Rel €| S 9 fyeer ;

()
(©)

SRt H I 1 9 S | (b) R H M T T S |
SRt § 9T ST ac SRl W | d) ST H HE T

Ife T fuvg =l 8% qd a1 3men Gifed foran wan © o gHept ¥ ¢

(a)
(©)

ELRE (b) RIS
3T B ST | (d) = TETESE
12
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29.

30.

31.

32.

33.

34.

Teh HUFIER ol ¥ Ueh 319 ol YR a1 H eiell ST ¥ 1 2760 38 i a1 | off a1 ¥ R gy
g, 70 Te gaeR 9R T7ehTen ST &, St femmn €1 9T YR B0

w B

(a) W HHA & CH (b) T ®H & B H
(c) T HATT AH (d) §& o H SR B

T 3ceter fuue o fau (B = 3ciad ad, W = 3t e &1 i)
(@) B=W (b) B>W

(@ B<W (d) T el R

T R Tk 719 H 5ol § 9 1ee! a1 H 219 T eAhe! il sclieh [o1C, ST @l 8 | Ao, 3R

TRl ol sellch ohl ATeel § STell dl, o S ¢
(a) YA U AfeR 9R (b) Y9 E FH IR
() Td % TR IR (d) T | RE T

a2 s T T @ i & Fod A ) T W T Rl ) G w31 9w o
STIEY T IO A1 =R 8, Tk ok P Q ol Tt :

CTUUUTUUTU %

fasrt 7S ¥de

L
(a)  45° T FIVT A ok S | (b) Tt & T & WY WY SR T |
() W AR (d) e TR S
i A1 TR T a1 © :
(a) Sga t sTgfadl 1 Tk g (b) had T AT I A0
(c) T THA AR A (d) whw g A e

T i A ek T YRE B § qd o TohR i e 3coet et § 2

(a) TIA (b) 3EgA (c) %A &= (d) WK g TA

13
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35. Ueh SololR FAM § S SR ¥ 91 &1 Fehre foan Sman @ 1
(a) AfT it dierar Rt S (b) eAfT =t Tfa et T
(c) =t = diean gt T (d) =aft =t fd s g

36. T forenell 7 TN § T HlH= & U= 9N Hl AR hlh A s e i gqm 1
IR :

(@) Ts<H (b) TR+ (€ YOIHE (d) =

37. = <t fot fomame o € 37 ue Saret 1§ 9o QORI e 1 R | 98 HROT Ay R i e 1
T a1 SeTge | @ TR

(a) I U €|
(b) S gasiat €1
(c) Tl Uey % faafsa & g § 5re, 7 iR i |
(d) =i H % S

38. THCA WIS YUICH, H&A TS qT T IS, Sfciehad foamd, 2R (tetramerous) Io7 @ 1
STMEROIER Tl SITSTa STET STaeeh Sl FANTRIET fShaT T § SAferores T ¢

(@) THESETEH (b)) fgiews & (c) IR & (d) HEHES &

14
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39. < fed T fot ® Wi & g0 Y gfire 9 woi sienue forg quien e 1w fomneff grizess 1
AT @l A, B, C @1 D gRT AHifehd foran T &1 A, B, C AN D WM o F&l AHih ©

(a) HIRT ¥E, R WG, AT, FEgd (b) R TG, W& I, AN, FEa
(c) hed, ST ST, = VG, AT (d) TN, HIRT WG, I, hEd
40. AT ST Ul ST 3T YRR 1 A e e o 9eE € 1
(a) feforza (b) W@ (o e (d) =
41, Afeerct Tl % e E ; 1
(a)  3fr T = (b) HURRER IR R AEFIES Ioh
(c) o= He (d) SR T
-00o0-
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